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1 Question Description The traditional folk drama of Gawda which is performed annually to get the blessings of the folk deity on the whole community is
known --------------

A Ranmale

B Jagor

C Ghodemondi

D Kalo

E None of the above

Correct Answer B

Marks 1



2 Question Description The current Chairperson of Goa Commission for SC/ST is ......

A Shri Vasudev Meng Gaonkar

B Shri Deepak Karmalkar

C Shri Durgadas Gaude

D Shri Pandurang Madkaikar

E None of the above

Correct Answer B

Marks 1

3 Question Description The Scheme to provide financial assistance for conducting study tours (Excursion) for ST students during the vacations is ------------
-

A Study Tour for ST students

B Prashikshan Yatra

C Gagan Bharari Yojana

D Ladli Laxmi

E None of the above

Correct Answer B

Marks 1



4 Question Description The tribal population of the Goa, as per 2011 census, is

A 12%

B 7.5%

C 10.23%

D 9.67%

E None of the above

Correct Answer C

Marks 1

5 Question Description ........ of the Indian constitution empowers the State for making provisions for reservation of appointment or post in favour of
backward class of citizens which in opinion of the state is not adequately represented in the services under the state

A Article 16(4)

B Article 335

C Article 16(1)

D Article 10(1)

E None of the above

Correct Answer A

Marks 1



6 Question Description The world Tribal day is celebrated on ----------

A 6th june

B 9th August

C 15th November

D 2nd April

E None of the above

Correct Answer B

Marks 1



7 Question Description The scheme to provide Financial Support to Village Panchayats and Municipalities to create new infrastructure and upgrade the
existing infrastructure as also carry out one time maintenance where there is substantial tribal population in Village Panchayat and
Municipality Wards for the benefit of the ST communities is known as --------------

A Sanskruti Bhavan

B "Udyog Adhar Yojana

C Eklavya Prashikshan Yojana

D Adivasi Vikas Yojana

E None of the above

Correct Answer D

Marks 1

8 Question Description The age relaxation in job for the candidates belonging to Scheduled Tribe communities is........

A 3 years

B 5 years

C 10 years

D 20 years

E None of the above

Correct Answer B

Marks 1



9 Question Description --------------------- provides for specification of tribes or tribal communities or parts of or groups within tribes or tribal communities
which are deemed to be for the purposes of the Constitution the Scheduled Tribes in relation to that State or Union Territory

A a) Article 30

B b) Article 341

C c) Article 340

D d) Article 342

E None of the above

Correct Answer D

Marks 1

10 Question Description The Goa Commission for Scheduled Castes and Scheduled Tribes Act came into force in ___________

A 2003

B 2011

C 2010

D 2013

E None of the above

Correct Answer C

Marks 1



11 Question Description To review the implementation of the provisions of the Scheduled Castes and The Scheduled Tribes (Prevention of Atrocities) Act,
1989, the State Government shall constitute --------------

A High power vigilance and monitoring committee 

B State level Scrutiny Committee

C State level Coordination Committee

D State Advisory board

E None of the above

Correct Answer A

Marks 1

12 Question Description The essential characteristics of Tribal communities are--------------

A Primitive Traits

B Monogamy

C Geographical isolation

D a and c above

E None of the above

Correct Answer D

Marks 1



13 Question Description The organisation which organises Lokostav to promote Tribal culture is....

A GAKUVED

B Bhumiputra Seva Sanghtna

C Adarsh Yuvak Sangh

D Vanvasi Kalyan Ashram

E None of the above

Correct Answer C

Marks 1

14 Question Description ------------------ communities have been notified as Scheduled tribes for the State of Goa

A 8

B 3

C 5

D 4

E None of the above

Correct Answer A

Marks 1



15 Question Description The Constitution empowers the --------------- to specify the Scheduled Tribes (STs) in various states and union territories. 

A President

B Chief Minister

C Minister for Tribal

D Chief Secretary

E None of the above

Correct Answer A

Marks 1

16 Question Description The two Tribal Youths who sacrificed their life during the Social movement at Balli Goa in 2011 are

A Mangesh Gaonkar and Dilip Velip

B Mangesh Gaonkar and Durgadas Gaonkar

C Dilip Velip and Durgadas Gaonkar

D Dilip Gaonkar and Durgadas Velip

E None of the above

Correct Answer A

Marks 1



17 Question Description On ....... Prerana Din is observed every year in association with organization of Scheduled Tribes Communities working for the
upliftment and all round development of the Scheduled Tribe Citizens of Goa State

A 15th November

B 25th May

C 9th June

D 22nd April

E None of the above

Correct Answer B

Marks 1



18 Question Description The girl child belonging to Scheduled Tribe communities who Seek admission for XIth Standard is eligible for ------------ Scheme

A Kanyadhan

B Mamta

C Vidya Laxmi

D Swavlamban

E None of the above

Correct Answer C

Marks 1

19 Question Description The rights including community tenures of habitat and habitation for primitive tribal groups and pre-agricultural communities is -----
---------

A Human Rights

B Fundamental Rights

C Forest Rights

D Tribal Rights

E None of the above

Correct Answer C

Marks 1



20 Question Description The plan that aims to bridge the gap between the Scheduled Tribes and the general population with respect to all Socioeconomic
development indicators in a time bound manner is known as-----

A Tribal Sub plan

B Budget

C Annual plan

D Non Plan

E None of the above

Correct Answer A

Marks 1

21 Question Description The marriage within one's own tribe is known as -----------------

A Exogamy

B Endogamy

C Monogamy

D Polygamy

E None of the above

Correct Answer A

Marks 1



22 Question Description The scheme to provide the financial Assistance for performance of Funeral and Religious Ceremonies of Scheduled Tribes families
is --------------

A Antya Sanskar Sahay Yojana

B Antoday

C Assured Decent Last Rites Schemes

D Somobyathi Scheme for poor

E None of the above

Correct Answer A

Marks 1



23 Question Description The scheme which provide financial Assistance for the purpose of organizing activities such as Seminars, Workshops,
Competitions, tribal sports, traditional culture, Medical Camp and Awareness Camps etc. for Scheduled Tribe community in the
State of Goa is .....

A Mamta

B Jeevan Jyot

C Sahayata

D Ummid

E None of the above

Correct Answer C

Marks 1

24 Question Description The Fee Wavier Scheme for SC/ST is implemented by --------------

A Directorate of Social Welfare

B Directorate of Higher Education

C Directorate of Tribal Welfare

D Directorate of Women and Child Development

E None of the above

Correct Answer B

Marks 1



25 Question Description The monitoring of the implementation of Tribal Sub plan at State level Executive committee is under the Chairmanship of ------------
--

A Chief Minister

B Chief Secretary

C Secretary Tribal Welfare

D Director of Tribal welfare

E None of the above

Correct Answer B

Marks 1



26 Question Description The Chairperson of Goa Commission for SC/ST may hold the office till he attains the age of ........

A 65

B 67

C 60

D 45

E None of the above

Correct Answer B

Marks 1



27 Question Description POSDCORB is an acronym widely used in the field of ------------------------------

A Management and Public Administration

B Tribal Development

C Tribal Research

D Caste Research

E None of the above

Correct Answer A

Marks 1



28 Question Description The Scheduled tribes notified for the State of Goa are considered as Scheduled tribes if they or their forefathers resides in the State
of Goa prior to .........

A 8th January 2003

B 22nd April 2003

C 19th February 1968

D 9th June 1950

E None of the above

Correct Answer C

Marks 1



29 Question Description Organise the following steps in Research Process
i. Review of Literature
ii. Design Research Problem
iii. Formulation of Hypothesis
iv. Data collection
v. Research design (including Sample design)
vi. Analyse data
vii. Interpret and Report

A (ii), (i), (iii), (v), (iv), (vi), (vii)

B (i), (ii), (iii), (iv), (v), (vi), (vii)

C (iii), (i), (ii), (iv), (v), (vi), (vii)

D (iii), (ii), (i), (v), (iv), (vi), (vii)

E None of the above

Correct Answer A

Marks 1



30 Question Description Three communities, viz., 1. Kunbi 2. Gawda 3. Velip have been notified as Scheduled Tribes for the State of Goa Vide Scheduled
Castes and Scheduled Tribes Order (Amendment) Act, 2002, published in Gazette of India, dated,

A 8th January, 2003

B 22nd April 2003

C 15th November 2003

D 2nd April 2003

E None of the above

Correct Answer A

Marks 1



31 Comprehension With the disappearance of a language, it is not only a human creation that dies, but also a form of expressing a relationship with
nature, an oral tradition, poetry and ultimately a culture, thereby contributing to global impoverishment of humanity. It is for these
reasons that states, regions, society and civil as well as cultural organizations are seeking to adopt measures conducive to the
preservation of languages. These languages constitute a priceless heritage, playing a central role in the preservation of the identity
of numerous communities threatened on some continents, as well as being indispensable factors in ensuring cultural diversity. A
number of warnings by linguists and other social scientists as well as international organizations have come to underline with
growing intensity the crucial factor of languages and mother tongues in the development of human creativity, of the capacity to
communicate, and above all, its primary role in evolving cultural identities.

Question Description Identify from the options given below, the synonym of the phrase “global impoverishment”

A universal depletion

B poverty of the earth

C local enrichment

D poverty in the world

E None of the above

Correct Answer A

Marks 1



32 Comprehension With the disappearance of a language, it is not only a human creation that dies, but also a form of expressing a relationship with
nature, an oral tradition, poetry and ultimately a culture, thereby contributing to global impoverishment of humanity. It is for these
reasons that states, regions, society and civil as well as cultural organizations are seeking to adopt measures conducive to the
preservation of languages. These languages constitute a priceless heritage, playing a central role in the preservation of the identity
of numerous communities threatened on some continents, as well as being indispensable factors in ensuring cultural diversity. A
number of warnings by linguists and other social scientists as well as international organizations have come to underline with
growing intensity the crucial factor of languages and mother tongues in the development of human creativity, of the capacity to
communicate, and above all, its primary role in evolving cultural identities.

Question Description From the options provided below, select the one that is closest in meaning to the phrase “with growing intensity the crucial factor”
as implied in the passage.

A with increasing vigour the pivotal part

B with increasing anxiety the unique part

C with intense worry the significant role

D with excessive concern the important role

E None of the above

Correct Answer C

Marks 1



33 Comprehension With the disappearance of a language, it is not only a human creation that dies, but also a form of expressing a relationship with
nature, an oral tradition, poetry and ultimately a culture, thereby contributing to global impoverishment of humanity. It is for these
reasons that states, regions, society and civil as well as cultural organizations are seeking to adopt measures conducive to the
preservation of languages. These languages constitute a priceless heritage, playing a central role in the preservation of the identity
of numerous communities threatened on some continents, as well as being indispensable factors in ensuring cultural diversity. A
number of warnings by linguists and other social scientists as well as international organizations have come to underline with
growing intensity the crucial factor of languages and mother tongues in the development of human creativity, of the capacity to
communicate, and above all, its primary role in evolving cultural identities.

Question Description Identify the word from the passage that is farthest in meaning to “central” as implied in the passage

A peripheral

B indispensable

C pivotal

D intense

E None of the above

Correct Answer A

Marks 1



34 Comprehension With the disappearance of a language, it is not only a human creation that dies, but also a form of expressing a relationship with
nature, an oral tradition, poetry and ultimately a culture, thereby contributing to global impoverishment of humanity. It is for these
reasons that states, regions, society and civil as well as cultural organizations are seeking to adopt measures conducive to the
preservation of languages. These languages constitute a priceless heritage, playing a central role in the preservation of the identity
of numerous communities threatened on some continents, as well as being indispensable factors in ensuring cultural diversity. A
number of warnings by linguists and other social scientists as well as international organizations have come to underline with
growing intensity the crucial factor of languages and mother tongues in the development of human creativity, of the capacity to
communicate, and above all, its primary role in evolving cultural identities.

Question Description As per the passage, evolving cultural identity is the prime contribution to human society made by

A oral tradition

B language and mother tongue

C process of communication

D development of human creativity

E None of the above

Correct Answer B

Marks 1



35 Comprehension With the disappearance of a language, it is not only a human creation that dies, but also a form of expressing a relationship with
nature, an oral tradition, poetry and ultimately a culture, thereby contributing to global impoverishment of humanity. It is for these
reasons that states, regions, society and civil as well as cultural organizations are seeking to adopt measures conducive to the
preservation of languages. These languages constitute a priceless heritage, playing a central role in the preservation of the identity
of numerous communities threatened on some continents, as well as being indispensable factors in ensuring cultural diversity. A
number of warnings by linguists and other social scientists as well as international organizations have come to underline with
growing intensity the crucial factor of languages and mother tongues in the development of human creativity, of the capacity to
communicate, and above all, its primary role in evolving cultural identities.

Question Description The human society gets culturally impoverished when

A the relationship with nature is hindered

B human creation is undermined

C oral tradition is lost

D when a language disappears

E None of the above

Correct Answer D

Marks 1



36 Comprehension Most malnutrition is invisible. Consistent undernutrition, together with bouts of infection and diarrhoea, can retard growth
so gradually as to go unnoticed by the mother. Unless a child is seriously underweight or shows obvious signs of
malnutrition (listlessness, discoloured hair, irritability, frequent crying, distended stomach) his condition of undernutrition
may not be visible to the mother. For timely prevention of malnutrition, the UNICEF has been using the simple
inexpensive method of growth monitoring charts which helps mothers whether or not their children are growing and
gaining weight correctly and thus can be an effective aid to sound child health and nutrition. The first requirement for
children and adults who are undernourished and living at subsistence level is adequate quantity of food. The next is
nutritious food, containing all the elements necessary to support life and maintain good health.

Question Description Identify the original full form of UNICEF from the options given below

A United Nations International Cultural Economic Forum

B United National Cultural Economic Federation

C United Nations International Children’s Emergency Fund

D United Nations Intellectual Cultural Economic Foundation

E None of the above

Correct Answer C

Marks 1



37 Comprehension Most malnutrition is invisible. Consistent undernutrition, together with bouts of infection and diarrhoea, can retard growth
so gradually as to go unnoticed by the mother. Unless a child is seriously underweight or shows obvious signs of
malnutrition (listlessness, discoloured hair, irritability, frequent crying, distended stomach) his condition of undernutrition
may not be visible to the mother. For timely prevention of malnutrition, the UNICEF has been using the simple
inexpensive method of growth monitoring charts which helps mothers whether or not their children are growing and
gaining weight correctly and thus can be an effective aid to sound child health and nutrition. The first requirement for
children and adults who are undernourished and living at subsistence level is adequate quantity of food. The next is
nutritious food, containing all the elements necessary to support life and maintain good health.

Question Description The passage implies that, when early signs of malnutrition go unnoticed, the immediate outcome is that it

A hinders the prevention of malnutrition

B leads to undernutrition in the long run

C leads to the onset of infection and diarrhoea

D conceals the condition of undernutrition

E None of the above

Correct Answer D

Marks 1



38 Comprehension Most malnutrition is invisible. Consistent undernutrition, together with bouts of infection and diarrhoea, can retard growth
so gradually as to go unnoticed by the mother. Unless a child is seriously underweight or shows obvious signs of
malnutrition (listlessness, discoloured hair, irritability, frequent crying, distended stomach) his condition of undernutrition
may not be visible to the mother. For timely prevention of malnutrition, the UNICEF has been using the simple
inexpensive method of growth monitoring charts which helps mothers whether or not their children are growing and
gaining weight correctly and thus can be an effective aid to sound child health and nutrition. The first requirement for
children and adults who are undernourished and living at subsistence level is adequate quantity of food. The next is
nutritious food, containing all the elements necessary to support life and maintain good health.

Question Description The symptoms of listlessness, discoloured hair, irritability, frequent crying, distended stomach with underweight in a
child indicate that the child is suffering from

A subsistence

B underweight

C undernutrition

D malnourishment

E None of the above

Correct Answer C

Marks 1



39 Comprehension Most malnutrition is invisible. Consistent undernutrition, together with bouts of infection and diarrhoea, can retard growth
so gradually as to go unnoticed by the mother. Unless a child is seriously underweight or shows obvious signs of
malnutrition (listlessness, discoloured hair, irritability, frequent crying, distended stomach) his condition of undernutrition
may not be visible to the mother. For timely prevention of malnutrition, the UNICEF has been using the simple
inexpensive method of growth monitoring charts which helps mothers whether or not their children are growing and
gaining weight correctly and thus can be an effective aid to sound child health and nutrition. The first requirement for
children and adults who are undernourished and living at subsistence level is adequate quantity of food. The next is
nutritious food, containing all the elements necessary to support life and maintain good health.

Question Description Select from the following options the word or phrase from the passage that is synonymous with “to delay or slow down
the development of something”.

A distended

B retard

C malnutrition

D bouts

E None of the above

Correct Answer B

Marks 1



40 Comprehension Most malnutrition is invisible. Consistent undernutrition, together with bouts of infection and diarrhoea, can retard growth
so gradually as to go unnoticed by the mother. Unless a child is seriously underweight or shows obvious signs of
malnutrition (listlessness, discoloured hair, irritability, frequent crying, distended stomach) his condition of undernutrition
may not be visible to the mother. For timely prevention of malnutrition, the UNICEF has been using the simple
inexpensive method of growth monitoring charts which helps mothers whether or not their children are growing and
gaining weight correctly and thus can be an effective aid to sound child health and nutrition. The first requirement for
children and adults who are undernourished and living at subsistence level is adequate quantity of food. The next is
nutritious food, containing all the elements necessary to support life and maintain good health.

Question Description Select the suitable option that explains the term ‘subsistence’.

A a particular kind of matter having uniform properties

B to continue to live or exist

C minimal resources required to survive

D food or drink regarded as nourishment

E None of the above

Correct Answer C

Marks 1



41 Question Description How many satellites have been placed into orbit by ISRO's heaviest rocket LVM3 M2?

A 31

B 36

C 35

D 32

E None of the above

Correct Answer B

Marks 1

42 Question Description Which IT company and the Indian government will collaborate on a programme to educate its digital toolkit?

A Apple

B Dell

C Microsoft

D Wipro

E None of the above

Correct Answer C

Marks 1



43 Question Description What is the theme for the International Day of the Girl Child 2022?

A Courage and perseverance

B Good vs. Evil

C Redemption

D Our time is now-our rights, our future

E None of the above

Correct Answer D

Marks 1

44 Question Description Where was India's Second National Model Vedic School inaugurated recently?

A Dwarka

B Puri

C Badrinath

D Guwahati

E None of the above

Correct Answer B

Marks 1



45 Question Description Who has launched a special WhatsApp helpline number for pregnant women?

A WCD

B NCW

C MHA

D MoHFW

E None of the above

Correct Answer B

Marks 1

46 Question Description Durgavati Tiger Reserve, which was notified recently, is located in which state/UT?

A Andhra Pradesh

B West Bengal

C Maharashtra

D Madhya Pradesh

E None of the above

Correct Answer D

Marks 1



47 Question Description Which country and the Indian Air Force are participating in "Garuda VI," a bilateral exercise?

A Australia

B Sri Lanka

C France

D Japan

E None of the above

Correct Answer C

Marks 1

48 Question Description Which state/UT released the 'SAMRIDDHI', a one-time property tax amnesty scheme?

A Gujarat

B Jammu and Kashmir

C Andhra Pradesh

D New Delhi

E None of the above

Correct Answer D

Marks 1



49 Question Description Asia's Largest Compressed Biogas Plant has been inaugurated in which state?

A Punjab

B Haryana

C Gujarat

D Madhya Pradesh

E None of the above

Correct Answer A

Marks 1



50 Question Description Which education board has launched the mobile application "Dost for Life"?

A ICSE Board

B CBSE Board

C Open Board

D All of above

E None of the above

Correct Answer B

Marks 1



51 Question Description What does the area marked 1 in the figure given below represent?

A

A All honest European swimmers

B All honest advocates who are swimmers

C All no-European advocates who are honest swimmers

D All non-Europeans who are honest swimmers

E None of the above

Correct Answer C

Marks 1



52 Question Description Which one will replace the question mark ?

A 11

B 19

C 15

D 22

E None of the above

Correct Answer D

Marks 1



53 Question Description A wheel that has 6 cogs is meshed with a larger wheel of 14 cogs. When the smaller wheel has made 21 revolutions,
then the number of revolutions mad by the larger wheel is:

A 4

B 9

C 12

D 49

E None of the above

Correct Answer B

Marks 1



54 Question Description Four of the following five are related to each other in terms of English alphabet series and thus form a group. Which of the
following does not fit to that group?

A FUX

B PKN

C HSV

D MNP

E None of the above

Correct Answer D

Marks 1



55 Question Description Find the statement that must be true according to the given information.

Ten new television shows appeared during the month of September. Five of the shows were sitcoms, three were hour-long dramas,
and two were news-magazine shows. By January, only seven of these new shows were still on the air. Five of the shows that
remained were sitcoms.

A Only one of the news-magazine shows remained on the air.

B Only one of the hour-long dramas remained on the air.

C At least one of the shows that was cancelled was an hour-long drama.

D Television viewers prefer sitcoms over hour-long dramas.

E None of the above

Correct Answer C

Marks 1



56 Question Description There is a certain relationship between two given pair on both side of '::' . One word is given on another side of '::' while
another word is to be found from the given options, having the same relation with this word as the words of the given pair .
Choose the correct word from the following options.

Tectonics : Building : : Taxidermy : ?

A Classification

B Conserving

C Stuffing

D Collecting

E None of the above

Correct Answer C

Marks 1



57 Question Description Find out from amongst the four alternatives as to how the pattern (X) would appear when the transparent sheet is folded
at the dotted line.

     (X)                     (1)                 (2)                 (3)                 (4)

A 1

B 2

C 3

D 4

E None of the above

Correct Answer D

Marks 1

58



Question Description Which Answer Figure will complete the pattern in the figure?

A A

B B

C C

D D

E None of the above

Correct Answer C

Marks 1

59



Question Description Which Answer Figure will complete the pattern in the figure?

A A

B B

C C

D D

E None of the above

Correct Answer D

Marks 1



60 Question Description

Count the number of triangles and squares in the given figure.

A 36 triangles, 7 Squares

B 38 triangles, 9 Squares

C 40 triangles, 7 Squares

D 42 triangles, 9 Squares

E None of the above

Correct Answer C

Marks 1



61 Question Description Find the missing Numbers

A 54,41

B 17,82

C 17,10

D 96,13

E None of the above

Correct Answer C

Marks 1



62 Question Description Select the related word/letters/number from the given alternatives
25 : 175 :: 32 : ?

A 150

B 170

C 162

D 160

E None of the above

Correct Answer D

Marks 1



63 Question Description Each question given below consists of a statement, followed by three or four arguments numbered I, II, III and IV. You
have to decide which of the arguments is/are 'strong' arguments) and which is/are 'weak' arguments) and accordingly
choose your answer from the alternatives given below each question.

Statement: Should trade unions be banned completely?
Arguments:

I. Yes. Workers can concentrate on production.

II. No. This is the only way through which employees can put their demands before the management.

III. Yes. Employees get their illegal demands fulfilled through these unions.

IV. No. Trade unions are not banned in other economically advanced countries.

A Only I is strong

B Only II is strong

C Only I and II are strong

D Only I, II and III are strong

E None of the above

Correct Answer B

Marks 1



64 Question Description Choose the pair that best represents a similar relationship to the one expressed in the original pair of words.

PASTORAL : RURAL

A metropolitan : urban

B harvest : autumn

C agrarian : benevolent

D sleepy : nocturnal

E None of the above

Correct Answer A

Marks 1



65 Question Description A train 800 metres long is running at a speed of 78 km/hr. If it crosses a tunnel in 1 minute, then the length of the tunnel (in meters)
is:

A 130

B 360

C 500

D 540

E None of the above

Correct Answer C

Marks 1



66 Question Description choose which pair of numbers comes next.
17 32 19 29 21 26 23

A 25 25

B 20 22

C 23 25

D 25 22

E None of the above

Correct Answer C

Marks 1



67 Question Description Group the given figures into three classes using each figure only once.

A 1,2,3 ; 4,5,6 ; 7,8,9

B 1,3,5 ; 2,4,6 ; 7,8,9

C 1,5,9 ; 3,6,2 ; 4,7,8

D 1,9,7 ; 2,8,5 ; 3,4,6

E None of the above

Correct Answer A

Marks 1

68 Question Description Find the mirror image:



A A

B B

C C

D D

E None of the above

Correct Answer C

Marks 1



69 Question Description Find the missing Number
7, 13, 25, 45, 75, ?

A 117

B 153

C 209

D 123

E None of the above

Correct Answer A

Marks 1



70 Question Description How many such pairs of letters are there in the word “ATTRACTION”, each of which has as many letters between them in the
word (in both forward and backward directions) as they have between them in the English alphabetical series?

A one

B two

C four

D Three

E None of the above

Correct Answer B

Marks 1



71 Question Description There is a certain relationship between two given pair on both side of '::' . One word is given on another side of '::' while
another word is to be found from the given options, having the same relation with this word as the words of the given pair .
Choose the correct word from the following options.

taxonomy : Classification : : Pedology : ?

A Nature

B Farming

C Soil

D Mountain

E None of the above

Correct Answer C

Marks 1



72 Question Description Select the related word/letters/number from the given alternatives
343 : 678 : : 512 : ?

A 1024

B 1536

C 1000

D 1016

E None of the above

Correct Answer D

Marks 1



73 Question Description Study the following Statement and assumptions carefully and choose the right answer:

Statement: If degrees are delinked from jobs, boys will think twice before joining college.

Assumptions: I. Boys join college education to get jobs

II. A degree is of no use in getting a job

A if only assumption I is implicit

B if only assumption II is implicit

C if either I or II is implicit

D if neither I nor II is implicit

E None of the above

Correct Answer A

Marks 1



74 Question Description How many such pairs of letters are there in the 'CONDITIONAL' each of which has as many letters between them in the word as in
the English Alphabet?

A One

B Two

C Three

D Four

E None of the above

Correct Answer E

Marks 1



75 Question Description A dice is rolled twice and the two positions are shown in the figure below. What is the number of dots at the bottom face
when the dice is in position (i)?

A 1

B 5

C 6

D Cannot be determined

E None of the above

Correct Answer C

Marks 1


